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B. A. (HONOURS) ECONOMICS  

(BAECH) 

Term-End Examination 
December, 2022 

BECC-105 : INTERMEDIATE MICRO 

ECONOMICS–I 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt questions from each Section as per 

instructions given.   

Section—A 

Note : Answer any two questions from this Section. 

Each question carries 20 marks. 2×20 = 40 

1. (a) How can you decompose the price effect 
into substitution effect and income effect 

for good X, wherein good X is a normal 
good ? Give illustration. 10 
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(b) Given the utility function of a consumer : 

U (X, Y) = XY 

where X and Y represent the two goods of 

consumption, priced at Px  and Py  

respectively. Assuming income of this 

consumer to be ` 120, Px = ` 3 and Py = ` 1, 

compute the equilibrium quantities of 
consumption of both the goods.     10 

2. (a) What is the distinction between 
homogeneous function and homothetic 

production  function ? State the properties 
of homogeneous production functions. 8 

(b) A firm operates with the production 

function 0.5 0.25 0.4X 20 K L R= . The input 

prices per unit are ` 20 for K, ` 10 for L and 

` 5 for R. What will be the cheapest way of 

producing 1200 units of output ? 12 

3. (a) State the difference between explicit cost 

and implicit cost. Explain the graphical 
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approach for minimisation of cost of output 
production.  12 

(b) How do changes in interest rates affect the 
consumer’s choice ? Explain. 8 

4. (a) Find out the profit maximizing output of a 

firm under perfect competition. Which 
approaches are used to determine the 
profit maximisation output level ? 12 

(b) A firm producing two goods x and y, has 
the following profit function : 

             2 264 2 4 4 32 14x x xy y yπ = − + − + −  

find out profit maximising output level for 

both the goods and test that profits are 
maximised. 8 

Section—B 

Note : Answer any four questions from this 

Section. Each question carries 12 marks.     

4×12 = 48 

5. What do you understand by “consumer’s 

surplus” ? Discuss the indifference analysis 
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approach to measure the change in consumer’s 
surplus.    4+8 

6. In the context of decision-making under 
uncertainty, explain the Von-Neuman 
Morgenstern utility function. 12 

7. What is a production function ? Given the 
production function : 

2 2 3 3Q 6K L 0.10K L= −  

where Q is total output produced and K and L 
are the two factors of production with factor K 
fixed at 10 units. Determine the total product 
function for factor L L(TP ) .   4+8 

8. Discuss the features and applications of CES 
production function. Given the production 
function : 

0.75 0.25Q L K=  

Find out the elasticity of substitution. 8+4 

9. Explain with diagramme the relationship 
between average cost function and marginal 
cost function. 12 

10. Find out the profit maximising output for a 
firm, where the total cost function is given as :   

12 

2 3
C

1T 4 97 8.5
3

q q q= + − +   
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and total revenue function is : 
2TR 58 0.5q q= −   

11. Discuss the two fundamental theorems of 
Welfare Economics. 12 

Section—C 

Note : Answer both questions from this Section. 

Each question carries 6 marks.  

12. Explain any two of the following : 3×2=6 

(i) Indirect utility function 

(ii) Risk aversion 

(iii) Marginal rate of technical substitution  

(iv) Expansion path 

13. Distinguish between any two of the following : 

3×2=6 

(i) General equilibrium and Partial 
equilibrium 

(ii) External economies and External 
diseconomies 

(iii) Normal profit and Supernormal profit 
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(iv) Capital deepening and Labour deepening 
technical progress  
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      BECC-105 

dyk Lukrd (vkWulZ) (vFkZ'kkL=k)   

(ch- ,- bZ- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch- bZ- lh- lh--105 % eè;orhZ O;f"V vFkZ'kkL=k–I 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % izR;sd [k.M ls fn;s x;s funsZ'kkuqlkj iz'uksa ds mÙkj 
nhft,A  

[k.M&d 

uk sV % bl [k.M ls fdUgha nks iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 20 vad dk gSA 2 × 20 = 40 

1- (v)  vki X oLrq ds dher izHkko dks vk; izHkko 

,oa izfrLFkkiu izHkko ls fdl izdkj i`Fkd~ 

djasxs tgk¡ X oLrq lkekU; gS \ mnkgj.k lfgr 
le>kb;sA 10 
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(c)  fdlh miHkksDrk dk mi;ksfxrk iQyu bl izdkj 

fn;k x;k gS % 

U (X, Y) = XY 

 tgk¡ X rFkk Y miHkksx dh nks oLrq,¡ gSa ftudh 

dher Øe'k% Px  rFkk Py  ls izn£'kr gksrh gSA 

;g ekudj fd miHkksDrk dh vk; ` 120,  
Px = ` 3 rFkk Py  = ` 1A nksuksa oLrqvksa dh 

miHkksx dh larqyu ek=kk dk vkdyu dhft,A 

10 

2- (v)  ltkrh; ,oa leLFkSfrd mRiknu iQyu eas D;k 

vUrj gS \ leLFkSfrd mRiknu iQyu dh 

fo'ks"krk,¡ crkb;sA 8 

(c)  ,d iQeZ 0.5 0.25 0.4X 20 K L R=  mRiknu iQyu 

ds lkFk dk;Zjr gSA izfr bdkbZ vknk dher bl 

izdkj gS % 

 K dh dher = ` 20 

 L dh dher = ` 10 

 R dh dher = ` 5 

 mRiknu dh 1200 bdkb;ksa dk mRiknu djus ds 

fy, lcls vf/d lLrk rjhdk D;k gksxk \ 12 
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3- (v)  lqLi"V ykxr ,oa fufgr ykxr esa vUrj 

crkb;sA mRiknu ykxr ds U;wurehdj.k ds fy, 

js[kkfp=kh; n`f"Vdks.k dh O;k[;k dhft,A 12 

(c)  C;kt nj esa ifjorZu fdl izdkj miHkksDrk ds 

p;u dks izHkkfor djrk gS \ O;k[;k dhft,A 8 

4- (v)  iw.kZ izfr;ksfxrk ds vUrxZr fdlh iQeZ ds ykHk 

vf/drehdj.k dks Kkr dhft,A ykHk ds 

vf/drehdj.k dk fu/kZj.k djus ds fy, dkSu 

ls n`f"Vdks.kksa dk iz;ksx fd;k tkrk gS \ 12 

(c)  nks oLrq,¡ X rFkk Y dk mRiknu djus okyh 

,d iQeZ dk ykHk iQyu bl izdkj gS % 

             2 264 2 4 4 32 14x x xy y yπ = − + − + −  

 nksukas oLrqvksa ds fy, vf/dre ykHk iznku 

djus okys mRiknu Lrj Kkr dhft, vkSj ;g 

ijh{k.k dhft, fd ykHk vf/dre gSA 8 

[k.M&[k 

uk sV % bl [k.M ls fdUgha pkj iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 12 vad dk gSA 4×12 = 48 

5- miHkksDrk dh cpr ls vki D;k le>rs gSa \ miHkksDrk 

dh cpr eas ifjorZu ds ekiu dh rVLFkrk oØ 

fo'ys"k.k fof/ dh ppkZ dhft,A 4+8 
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6- fu.kZ; ysus dh izfØ;k ds lanHkZ eas vfuf'prrk ds 

vUrxZr oku&U;weSu ekWxsZUlVuZ mi;ksfxrk iQyu dh 

O;k[;k dhft,A 12 

7- mRiknu iQyu D;k gksrk gS \ ,d mRiknu iQyu bl 

izdkj fn;k gS % 
2 2 3 3Q 6K L 0.10K L= −  

tgk¡ Q dqy mRikfnr mRiknu gS] K rFkk L mRiknu 
ds dkjd gSa vkSj K dh bdkb;k¡ 10 fLFkj gSaA L 
lk/u L(TP ) ds fy, dqy mRiknu iQyu Kkr 

dhft,A   4$8 

8- lh- bZ- ,l- mRiknu iQyu dh fo'ks"krk,¡ rFkk blds 

iz;ksx crkb;sA fn;s gq, mRiknu iQyu 
0.75 0.25Q L K=  dh izfrLFkkiu yksp Kkr dhft,A 

8+4 
9- lhekUr ykxr iQyu ,oa vkSlr ykxr iQyu ds chp 

lEcU/ dh lfp=k O;k[;k dhft,A 12 

10- ,d iQeZ ds vf/dre ykHk iznku djus okys mRiknu 

Lrj Kkr dhft,] ftldk dqy ykxr iQyu bl izdkj 

fn;k gS %   12 

2 3
C

1T 4 97 8.5
3

q q q= + − +
 

rFkk dqy vkxe iQyu bl izdkj fn;k gS % 
2TR 58 0.5q q= −  
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11- dY;k.kdkjh vFkZ'kkL=k ds nks ewyHkwr fl¼kUrksa dh 

ppkZ dhft,A  12 

[k.M&x 

uk sV % bl [k.M ls nksuksa iz'uksa ds mÙkj nhft,A izR;sd 

iz'u 6 vad dk gSA 

12- fuEufyf[kr esa ls fdUgha nks dh O;k[;k dhft, %  

3×2=6 

(i) vizR;{k mi;ksfxrk iQyu 

(ii) tksf[ke cpko 

(iii) rduhdh lhekUr izfrLFkkiu nj 

(iv) foLrkj iFk 

13- fuEufyf[kr esa ls fdUgha nks ds chp vUrj crkb;s % 

3×2=6 

(i) lkekU; lUrqyu ,oa vkaf'kd lUrqyu 

(ii) cká ferO;;rk;sa ,oa cká vferO;;rk;sa 

(iii) lkekU; ykHk ,oa vf/lkekU; ykHk 

(iv) iw¡th l?ku ,oa Je l?ku rduhdh izxfr 
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